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Term-End Examination 

December, 2018 

ELECTIVE COURSE : ECONOMICS 

BECE-016 : ECONOMIC DEVELOPMENT : 
COMPARATIVE ANALYSIS AND 

CONTEMPORARY ISSUES 
Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per the intruction given in each 

section. 

SECTION - A 
Long Answer Questions 

Answer any two questions from this section in 
about 500 words each : 2x20=40 

1. What do you mean by Capitalism ? What are the 
different stages of historical evolution of the 
Capitalism ? 

2. Discuss the changes in the foreign trade policy of 
Singapore. Examine the role of FDI in the growth 
of the Singapore Economy in recent years. 

3. Explain the objectives of GATT. Indicate the 
problems of GATT with special reference to 
developing countries. 

4. What do you mean by Globalisation ? Examine 
economic implication of globalisation for a 
country such as India. 
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SECTION - B 
Medium Answer Questions 

Answer any four questions from this section in 
about 250 words each : 	 4x12=48 

5. What are chief characteristics of growth 
process ? 

6. What are the capitalistic features of '- 
Economy ? How government 	_.ins 
regulate and control the Lie - 	1 

7. Explain 	features of Public Private 
Partner 

8. What is Uruguay Round ? Discuss main 
Provision of cancun meeting. 

9. "Globalisation has affected the terms of trade of 
different countries in different ways". Explain 
them. 

10. Explain the features of good governance in India. 

SECTION - C 
Write short notes on any two of the following in 
about 100 words each : 	 2x6=12 

11. (a) Market Economy 
(b) Public Sector 
(c) International Monetary Fund 
(d) Global Warming 
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